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g2 T3}y,
3L/4 2 3L/4 )
P= » \ 1//11 | 2dz = (f)/L/4 sin’(rz/L)dz
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CCD(charge-coupled device)
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Schroedinger equation
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Table 6.1 Hypothetical Data Set for Position of a Particle
as Recorded in Repeated Trials
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Trial (arbitrary units) Trial (arbitrary units) Trial (arbitrary units)
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3 Xg = 1.4 9 Xg = 4.1 15 X5 = 6.2
4 X4 = 7.9 10 X190 = H.4 16 X16 = 7.1
5 X5 = 6.2 11 X111 = 7.0 17 X17 = 5.4
6 xg = 5.4 12 x19 = 3.3 18 x18 = 5.3
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Table 6.2 Common Observables and
Associated Operators
Observable Symbol Associated Operator
Position X X
h o
Momentum P —_———
1 dx
Potential energy U U(x)
L h2 92
Kinetic energy K S
' 2m  ox*
o h2 92
Hamiltonian H e L)
2m  Ix”
. 0
Total energy E eﬁT
oL




